Identify each transformation as A: Translation,

B: rotation, C: Reflection, or D: Dilation.
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Bubble the correct answer choice from each item above.
#1. #2. #3. #4. #5. #o. #7. #8.
OA. OA. OA OA OA. OA. OA. OA.
OB. OB. OB. OB. OB. OB. OB. OB.
Oc. Oc. Oc. Oc. Oc. OcC. OcC. Oc.

OD. OD. OD. OD. OD. OD. OD. OD.
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Bubble the correct answer choice from each item above.
#9 #10 #11 #12 #13 #14 #15 #16
OA. OA. OA OA OA. OA. OA. OA.
OB. OB. OB. OB. OB. OB. OB. OB.
Oc Oc Oc. Oc. OcC. Oc Oc. Oc.

ob. ob. OD. OD. ob. Ob. OD. ob.



